—_f N, ‘(EE —
| =5 N/
?}}EEIE:J;KJ n\%
af F A R R
B4
THEES £ BT 4 RekE (Bke) M
ZEL T e S H OH b M 4 H H T SERCEA A
RIS L REMES (%) REME (5850
= % TE A Wik - K Tik - K ik - K ik - oA
H H ol a b c d e B a a’ b b~ c d e B a a’ b b~ c d e PR a a’ b b~ c d e f2
1. M LA | 1 KE LR 1.0| 0.5] 0.0|-5.0/-10.0
I B Bl 3.0 1.5 0.0|-5.0|-10.0
2. RETARBL | T MR 4.0[ 2.0] 0.0]-5.0]-10.0] 5.0 2.5 0.0|-7.5]-15.0 5.0 2.5 0.0|- 7.5[-15.0
1T LRI 1.0/ 2.0 o.0[-5.0]/-10.0 2.0 1.0 0.0|- 7.5|-15.0
T2 42k 35 5.0] 2.5 0.0]-5.0]-10.0 3.0 1.5 0.0|- 7.5|-15.0
IVxi5BEER 2.0 1.0] 0.0]-2.5|-5.0
3. Hi¥E 1 i3RI 4.0l 2.0 0.0[-2.5]-50 10.0( 7.5| 5.0 2.5 0.0]|-10.0[-20.0 10.0| 7.5| 5.0| 2.5] 0.0]|-10.0[-20.0
a0y LT 5.0 2.5 0.0/-25/-5.0 15.0| 12.0| 7.5 4.0 0.0|-12.5]|-25.0 15.0] 12.0| 7.5| 4.0| 0.0|-12.5|-25.0
HiskiE 2 | MM kIEx 5.0 2.5 0.0]- 5.0 5.0 2.5 0.0[- 5.0
4. THERE | 1B TS~ DX (% 2) 20.0 [~0.0 0.0
5. AIETHR | TAETRCEES) 7.0l~0.0] 0.0
6. fhEtES | | MR~ (% 4) 10.0 7.5| 5.0] 2.5| 0.0
IS AE (1+2+3+4+546) R B H
FEE A (65 A ML ATE) (% 1) ® @ I ©) M @ H
FERE MGG 5) I (@ HX0.4 +©@ HX0.2 +(@® JX 0.4 % )+ (@ i< 0.4 X ) = Jas
7. EATESTTECK6) =
FEEAGF (% T) P R EE o= 7. IEAESRE o= )
EEA MR RS AR
BT R(G%8)
1 65 AHMBEAR (1+2+3+4+5+6) 5,
FRE s (O~@) 13/ EE L ETRAT S,
X2 THEEL, UM TEEAOMEOR R (BED ORI, R BN, SIS oEERE « A0%0, BUVWBK - gt R THICRT 22 8MR%) 1ok LT
NSRS L7z 2 & A FHIiT 2T Th 5.
RSB L T, TESEBRY b oG AT C HRMRES) 2T b0E T 5.
3 AIETHRIE, THEEMO LD BT bRV THFICBNT, REOTRSL ) U2 L0 B ETREES N S o i MET 5 Th 5,
¥4 ABES O TIE IS~ OEREDOB AN D, MEFIOR L+ 5,
5 HHERESENDHoGA AR, 5: 0. 50BA08 (O Ax0. 44@ Hx0. 2+@ AX0. 4X0. 5+@ MHx0. 4%0. 5) = M = - T — .
U, QMBS 2 FEL oS8Tl T 5, | B E | HECKRE| BER
X6 ESMESFEIIEAGIROR L L, [HRSEES) 28T,
7 RREAARHT, A AICEEKE TS,
X8 FTHMNCIIAEER RO LT 5, .
MO BEFMH T L ORAL BIE [EEHHBHENE CX2b0ET 5, #




Ng = S
=\|/ N4
Tf:IEH E/DJIJFI:I:/:F_‘M\\EF Jl\\i%
sk R [ | ek [ |emmsspnesnmee

H A A bl O =3= @ YR ORERE () DEmE (Gek) B BIREE N | B ES
1. i LRI I . i AR — X 0.4+ 2.9= %
M 3.3 ’
. Bl X 0.4+ 2.9= ;
= 415 ’
2. Jii THRYL 1. i TAF P X 0.4+ 2.9= ( X 0.4+ 6.5) X = |( X 0.4+ 6.5) X = ,
A AR =y 13.0 4 A
. T X 0.4+ 2.9= X 0.2+ 3.2= %
A 8. 141 ’
. xR X 0.4+ 2.9= X 0.2+ 3.3= Y
pixy oy 8.8 4 ’
IV. %HohR% [x 0.4+ 2.9= ;
3.7 ’
3. HEEEWY | 1. HER X 0.4+ 2.8= ( X 0.4+ 6.5) X = X 0.4+ 6.5) X = %
HiskiE 2 I M A 14.9 45 ’
. W& X 0.4+ 2.9= ( X 0.4+ 6.5) X =|( X 0.4+ 6.5) X = %
b A 17. 4 5 ’
m. Hkixz ( x 0.4+ 6.5) X =1( X 0.44 6.5) X = ¥
o A 8.5 4 ’
4. T |. MiT&EE~D X 0.2+ 3.3= %
i 0
FSInA )= 7.3.8
5. AIETIRE . AlETR X 0.4+ 2.9= ;
A 5.7 5 ’
6. fhakd [. HUk~OFEmRE X 0.2+ 3.2= %
5.2 A ’
7. AP X 1.0 =
A A
% REREOMHACTIEEAORE, RIS (TH%) T 5, 2% | | FEMA 100 45

2/2




